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can be concluded from the statements above that... Which one of the
following statements most accurately expresses the author’ s main
point? Which one of the following statements CANNOT be true?
Which one of the following inferences can be most reliably drawn
from the passage above? The passage as a whole is structured to lead
to which one of the following conclusions? Which one of the
following is the best statement of the primary point of the passage?
Each of the following can be inferred from his argument EXCEPT...
Which one of the following claims is central to the author’ s
argument? If the statements above are true, then which one of the
following mustalsobetrue? D U O O (U OO 0O)O DO OO0
[J Which one of the following is the best completion of the
argument above? Based on the passage above, which phrase does
NOT provide a logical completion to the following sentence? [ [J
OO (Q 00O O)O Which one of the following is most strongly
supported by the information above? The statement above, if true,
most strongly support which one of the following claim? 0 [ [ [

[1 What is the flaw in the reasoning above? 0 [ 00 OO OJ OO The
author’ sargumentis logically flawed in thatit... O OO O O O O
The source of the man’ s erroneous reasoning is his... The reasoning
in the argument is most vulnerable to the criticism that it... 100Test
Joodoodooooooooooooooon



www.100test.com



